Corrigé du sujet S – LV2 – juin 02

Barbara Kingsolver, The Bean Trees
COMPREHENSION (100 pts)

1. 
Where does the scene take place? (country, state, precise place) (6 pts)

The scene takes place 
in the United States (2 pts), 

          
in Oklahoma (2 pts) 

in a car/in front of/outside a bar. (2 pts)

2.
Make a list of all the characters present and mentioned in the text.  Write present or mentioned  in column 2. Give significant details for each character. (10 pts/1 point par personnage, 1 point par justification)

	characters
	present or mentioned?
	details

	- the narrator
	present
	travelling across Oklahoma

	- a woman
	present
	a woman with a child in a blanket

	- the child in the blanket.
	present
	has the same round eyes as the woman who carries it.

	- a man
	present
	wears a grey or brown hat/walks out of a bar

	the mother of the child
	mentioned
	dead


3. 
When does the scene take place? Justify by quoting from the text. (2 quotations) 


Mention the lines. (8 pts)

The scene takes place at night/in the evening. (4 pts)

L.2-3 : “...driving all night...” (2 pts)

L.17-18 : “...in the darkness.” (2 pts)

L.27-28 : “...turn on the lights.” (acceptable sauf si c’est la seule réponse)

4. 
Say whether the following statements are true (T) or false (F). Circle the right answer and quote from the text to justify. (15 pts)


1. The narrator is preparing to cross Oklahoma.
T/F 
True

L.2-3 “ ...trying to think myself into the right mood for driving all night across Oklahoma.” (2.5 pts)

2. The narrator thinks the woman is hitch-hiking. 

T/F 

True

    L. 6 "You need a lift some place?" (2.5 pts)


3. The narrator wants to give the woman a baby. 

T/F 

False


    L. 11 “Take this baby”, she said.” (2.5 pts)


4. The child looks like the woman. 



T/F 

True


    L. 17 “The child had the exact same round eyes.“ (2.5 pts)


5. The woman is the child’s mother.



T/F 

False


    L.21 “My dead sister’s.” (2.5 pts)


6. The narrator is a woman. 




T/F 

True


    L. 24-25  “ If I had wanted a baby...“ ou


    “ I could have had babies coming out of my ears by now.” (2.5 pts)
5.   Find in the text the equivalents of the following words. Mention the lines. (9 pts)


1. mentally confused : dizzy (l. 1) 
(1,5 pt)


2. knocked : pecked (l.4) 

(1,5 pt)


3. a ride, a drive : a lift (l.6)

(1,5 pt)


4. a packet, a package : a bundle (l. 10)
(1,5 pt)


5. indistinct, obscure : foggy (l.36) 
(1,5 pt)


6. softly, smoothly : gently (l.39) 
(1,5 pt)

6. 
In your own words, give as much information as you can about the woman who knocked at the narrator’s windshield. (10 pts)
She’s a round woman. She’s wrapped in a blanket. She looks strange. She’s carrying a child and puts it down on the car. Her sister is dead. She seems to be afraid of the man who walks out of the bar. She’s reluctant to abandon the baby.

7.  
Translate into French from “A man came out of the bar ...” (line 26) down to “Just don’t.” (line 30) 


(12 pts)

Un homme sortit du bar./ Il portait un chapeau gris ou marron, je n’aurais su le dire, /car j’étais garée assez loin de la porte./ Il monta dans un pickup sans démarrer ni allumer les phares. / - C'est votre homme, là-bas, dans le bar ?/ lui demandai-je. /

- N’y retournez pas. Je ne vous dis (dirai) pas pourquoi. /N’y allez pas, c’est tout.” 
(1.5 pt par segment)

8.    What about the man? What role does he play in the story?   (10 pts)

Perhaps he is the woman’s husband and/or the baby’s father. He may be violent because she seems to be afraid of him. Perhaps that’s why she has to abandon the baby.

(accepter toute réponse cohérente)

9.    What are the narrator’s various feelings throughout the text? (10 pts)

At first she is dizzy, confused and surprised, because she does not understand the woman’s intentions. Then she tries to argue with her. She finds it hard to believe that the woman wants to give away her child. She doesn't know what to say or what to do.

10.  “I had a foggy understanding that I wasn’t arguing the right point. This was getting us nowhere.” Explain this passage in your own words. (10 pts)

The narrator has a vague understanding that the woman is not listening to her and that she has made her decision (that her mind is set). She is not using the right arguments. It is no use trying to change her mind.

EXPRESSION (100 pts)
Choose one of the following subjects (200 words):

1.   Imagine a continuation to the story.

2.   In your opinion, why does the woman give the child away?

Rappel du barème

	Questions
	Points

	1. 
	2 x 3
	6

	2. 
	5 x 1 + 5 x 1
	10  

	3. 
	4 + 2 + 2
	8

	4. 
	2,5 x 6
	15  

	5. 
	1,5 x 6
	9

	6. 
	
	10

	7. 
	Traduction (1,5 x 8)
	12

	8. 
	
	10

	9. 
	
	10

	10.    
	
	10

	Total compréhension + traduction
	100  

	Expression
	100  

	Total
	200  


Barème sur 200 à diviser par 10 pour obtenir une note sur 20
Guide pour l'évaluation de l'expression personnelle en anglais

Baccalauréat séries L LV2, ES LV1, S LV1 et S LV2

Suggestions du groupe d'anglais de L'Inspection Générale des Langues Vivantes

Candidat : copie N° _________________

	Réalisation de l'exercice 

et traitement du sujet

4 points
	Recevabilité linguistique

6 points
	Total des points

	0.5 point

· présentation inacceptable

· écriture illisible

· consignes non respectées

· hors sujet

· contresens


	0.5 – 1 – 1.5  point

· inintelligible

· lexique indigent

· erreurs récurrentes de grammaire élémentaire
	

	1 – 1.5 – 2 points

· recopiage du support

· hors sujet partiel

· sujet compris mais traitement plat et superficiel

· construction vague


	2 – 2.5 – 3 – 3.5 points

· compréhension possible malgré des erreurs fréquentes

· lexique limité

· syntaxe peu élaborée
	

	2.5 – 3 – 3.5 points

· existence d'une problématique

· effort de construction


	4 – 4.5 – 5 points

· erreurs occasionnelles

· vocabulaire adapté

· syntaxe adéquate


	

	4 points

· enchaînement des idées

· développement organisé

· références culturelles

· conviction, humour


	5.5 – 6 points

· erreurs rares

· vocabulaire riche

· syntaxe élaborée

· capacité à nuancer
	

	Dans un esprit d'évaluation positive, on n'hésitera pas à bonifier – en seconde lecture et selon une échelle + 0.5 / + 1 / +1.5 –  les copies qui se lisent relativement facilement, avec intérêt, voire avec plaisir.

On tiendra compte du soin apporté à la présentation et à la rédaction. On valorisera tout particulièrement les copies dont les auteurs ont réagi au sujet proposé en s'engageant et en exprimant un point de vue personnel.
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